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Rather; what is different by - 9vanm 78 372 wow (72w W 7379 718 R9N
the MW 7x is that they have a stringent aspect

OVERVIEW

The 1127 (who argue with °"7) and maintain that a Y2y 7217 7R TW¥n 12 PRY IRD,
explain that we cannot derive through a mw: 7% from 1"y1 "W that a 12 PRY IR
PHY PP? Iwyn because the mwn 78 has a an 7¥ (which m»oin will point out),
therefore since the Mwn 7% has a 7M1 7 we cannot derive it by other 2°110°X, which
do not have a " 7.

mooin explains the stringency of the mw: 7x:

- DY NPYY AN ARIND T PR M
This one (72117 2>7V) does not require a warning (to receive punishment), and
this one (1"wxn) receives mpv» and pays. This is what is meant by a “1mm 7X.

mooin asks:
- 1Y X599 AT PPN NNT NI

And this is astounding! For the refutation is not the same for both cases of the 7¥
mw.

N150IN answers:
- PN INYM N2 DINYN DN 1Y 7997 PNY 13939 WD)

And the °'"9 explained that the question of " ni 7X is that Y"wxm 1"V are

extremely different from the rest of n1psn *2»n -
- 3999951 INYA 13 PRY D1 ZANRIND 798 PRV

For they (the 1"v) do not require a warning [and (a "wxw) is aywmy ap®],
which is not the case by the rest of nyphn 2>n.

' When we wish to derive a new rule (the 72%) through a 7w 7% (the [2°]T1%0); it is because there is always a R
by each % which the % does not have. Nevertheless since the X1 of one 7291 is different from the X1 of the
other %1 we say that we can derive the 717 from these two 0121 through a mw:i 7¥ (a commonality that all three
[the two 0>Tn7n and the 7] have), despite the different individual n1n that each Tm%» has. However, here we are
saying that even though the nmn of the two a>1nn are different, we nevertheless cannot derive the 722 from the
0> because the 0¥1n%n are 7, but this goes against the entire idea of a mwn 7¥. According to this reasoning (of
71 7%) we can never derive anything through a mw: 7¥ because the Mw:n 7¥ has a M 73!
2 The 9"wnnn amends this to read mn 22wm a2191 ARINA (instead of 7n ARANM).
3 The nIm of 2"w¥1 1"y are not limited to a particular detail but rather it goes against the entire structure of *2»n
mpon. There is a general rule that 195m 2"RR PwW X and nevertheless by 1"V they receive NP without a 8707,
There is a general rule that 125w 1212 X and nevertheless by 1"wxm he is 2wm 72172, Such unusual NN qualify
to reject the mw: 7%, for even though the n1mn are different, nevertheless we cannot derive anything from these two
since the 7710 gave them exceptional M.
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mooIn offers an alternate explanation of Mnm 7X:
= 40199 XYM NIN NY XY D297 DY PRIV 1Y MNIN 18 DN W 19V 9010 W Ty

And furthermore one can say; that the meaning of 9 mn 7% 273 w° 12w is that
the receive nmpo» for their statement alone, for they did not sin except with
what came out of their mouths, nothing really happened.

mooIn supports this contention:
= ¥9 DY N8N 1929007 NNN 23X DrYD 551IHYWI9ra 999 993 9911

For this is also what the "»%2y> 7m%n asks regarding that which was

mentioned previously (in our X713) that n"7 derives from 2'"w2y» that 2>wm mp1? -
= SRYN 91297 )9V ¥ DY NOXIND NN 9999

Where the 1127 refute this derivation from 2"wx1a that he rule should be a>wm P12
in all cases; saying that you know why 2"wxm is 25wn 17717 because it is only
speech, however by all other 2 10°X we require something tangible to be effected —

mooN responds to an anticipated difficulty:’
$NYYN AN %)912572 101917 0797 310WIIT WIIAT 7999 KD 0N 18 8920 ANNd 79

And >'"1 who maintains 7>95 X% 21 7%, he will explain according to the "p of

the s»bwyms, that by 1"y an action was done through their words. 7" ruled that
the accused is guilty; the ruling of 7"2 is considered a Twyn.

SUMMARY

4 In other cases of nwy» 12 PXRW W (for instance 1n), granted that the transgressor (the 7°n) did not do anything,
but nevertheless it caused the 1277 to become 2011 and 7109. However here even after the 077y testified and the 2"wxin
made his accusation, nothing really happened since the 2>7¥ are 7»»17 and the 3"wxm was disproven; no one was
adversely affected by their statements, and nevertheless the 70 gives them mphn. We cannot derive from this strict
ruling to anywhere else in the 70, where there is a punishment of mp » only if the violation of the W (even
without a 7wyn) had a real adverse effect. The X% of 1"y and "W are so unusually strict (%0 7¥) in that a
punishment is meted out even though there were no adverse effects, that we cannot derive from them that elsewhere
(where the 110X is not that strict [for it is forbidden only when there is an adverse effect]) one should also be 211 for
a nwyn 12 PRY R (as "wxm 1"y are).
5 The 5w is actually in X"77 nIN7 1"'0 and in X"7 3" Mo,
¢ The %37’ of the 1317, not to derive other cases from 1"Wwxn, is as was explained in footnote # 4.
7 According to m2oIn first answer that the MmN of 2"wxwm "y are different, it is understood why 7717 '3 does not
accept i 7% because we can only refute a 7w 7% if we find a common X117 among both 27291 (see footnote #
1). However according to n1v01n second explanation that the 71mn 7% is that by both of them there is only ‘talk’ no
adverse reaction, why indeed does not *"1 agree that it is a valid X375?
8 The n"27 mix1 amends this to read 7207 (instead of 120).
%1t is only by 1"wx that we can say X177 112°7 192 (because it was merely ‘talk’), therefore the 517> properly states
that regarding 2"wxm it is only M2°7; however, by 1"¥v there was a ruling of 7"2 (which is considered a nwyn) based
on their testimony, so there is no 7% by both 7"wx¥ and 1"y (only by 1"wxm). Therefore we can derive through a
MW 7% of 2"wews and 1"V that Yoy P12 Awyn 12 PRY XY for if we will say 27 12w 2"wn? an we will respond 1"V
21 that it is 7wyn and nevertheless they are 712 on a qwyn 12 PRY X7, See ‘Thinking it over’.
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T1n 7% means either that the M mim of 1"¥1 "W (even though they are different)
are so unusual that we cannot derive other 2°M0°X from them, or that they have a
common 121 7¥ that it was only 712°7 without an adverse effect (while >"7 claims
that a 7"°2 pod is not considered merely M12°7).

THINKING IT OVER

How can we reconcile that on one hand °"7 maintains that by 1"y it is not
considered merely M2°7, but rather 7wvn 72vnX,!% and on the other hand we derive
from 1"y (together with 2"wxn) that a Yo PP nwyn 12 PRY W?? Which way is it; is
TR 07V a WYn 12 PRW XY or it is considered a qwyn?

10 See footnote # 9.
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